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Car parking

Indicates the remaining five combinations in
‘any order, with no duplicates and none
incorrect
@
o [Ciop [20p [50p
7 0

Indicates atleast four correct combinations,
‘with not more than one duplicated, incorrect
or omitted

‘Additional guidance

/ Zeros omitted

+ Amownts given rather than mumbers of coins
‘Accept provided the number of cach type of
coin is unambiguously implied

e, for the combination 2 0. 1, accept

10p [ 200 [ sop
10p Sop
10p

eg, for the combination 2 0 1, do not

accepe

10p [ 200 | s0p
0p sop
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Correct response

Gives a correct arrangement using cach of the
numbers 110 6 once only e for each 3 digic

number:
hundreds tens units
@
o s43e621
. 64152

Gives  correct arrangement using each of the
numbers 1106 once oly, e for cach 3 digic
number:

hundreds tens  units

5144236
o 2164534

‘Additional guidance

536 - 421 or 356 - 241

 Incorrect order of subtraction

@
.+ a21-536
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Answer of 100

‘Additional guidance
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Number pyramids

‘Additional guidance

| Completes the pyramid comcay e

1| Completes the irse pyramid correctly

Addto
their 15
1

Completes the second
diferent way from one credited foe the irst
pyramid

+ Numbers credited for the frst pyramid but
shouw in a different onder
Accept if the centre mumbersof the bottom
rowa are diferent
e, sccept
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Calculations

‘Additional guidance
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Correct response

3| Shows sl five correct ways, with none
corret or duplcated
©

1
Provded thi s the only error
mark s 1,0,0

more than ane incorsect or duplicated

‘Shows at least three correct ways, with not
‘more than two incorrector duplicated
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Matchboxes

 Equivalent ractions or decimals

t Answer of 4
‘Accept only if it i clearly stated that
‘another 4 boses are neded
o5, ccept
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Sports

Correct response

Additional guidance

Shows a correct amount, with units
eg
. £181.99

Shows a correct amount, with units

eg
. £8.02

! Value rounded
In part (a), accept £182 but do not accept
£181 unless a correct value is also seen
In part (b), do not accept £8 unless a correct
value is also seen

! Unis omitted
Penalise only the first such occurrence

Reference to money left over
Accept the correct change shown

3000503
Do not accept reference to part of a racket
&

*33(.)
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Making 27

[s-7]e
o[3 Correct response ‘Additional guidance
ala | &

m| 11
b|b 1m| Gives a correct explanation

‘The most common correct explanatior

Refer to the fact that an even number of Sp
coins gives an even total, and that addition of
2p coins will keep the total even
e
« An even number of Sp coins gives an
amount that is even, leaving an odd amount
to make up 27p. You can't make an odd
number with 2p coins
« An even number of Ss is even, adding 25
keeps it even, but 27 is odd
« An even number of Ss always ends in zero,
leaving you to make an odd number with 25
which is not possible

Produce a set of possible solutions

s
= 0x 5p = Op leaving 27p, impossible
2 x 5p = 10p leaving 17p, impossible
4 x 5p = 20p leaving 7p, impossible
6 x 5p = 30p, which is too big

= You can't make 27, 17 or 7 using 25

/ Minimally acceptable explanation
«

* An even number of 5s leaves an odd
‘number and you can't make an odd
number from 25

« 27is 0dd, s0 you have to have an odd
‘number of Sps or the 2s would make it
even

x Explanation refers only to S5, or only to 25
@
* An even number of Ss i even but
27 is odd
« An even number of Ss always ends in
* You can't make an odd number with 25

 Justification ot given
CY
* You can only make even totals
* You can only do it using an odd number
of S5
« Can't both be even
* 27 s an odd number

1 Only one case considered
As this is 2 level 4 mark, condone
eg, accept
2 x 5p = 10p leaving 17p, not possible
4 x 5p = 20p leaving 7p, can't
You can't make 7 using 25
Two Ss make 10 and eight 2s that is as
close as I can get
Add 2ps t0 10, you get 12, 14, 16, 18,
20,22,24,26,28 ....

 Justification mot given

* 26 is as close as I can get
* You can make 26 or 28
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Indicates Yes and gives a correct explanation
that shows or implies both of the values 40.75
and 41375

&
o 7x1254 3224075,
7.5 %125 + 32 = 41375,
50 they both round to 41
& 875 + 32 rounds to 41 and so does
9.375 + 32
« 875 gives 9 and 9.375 gives 9 before
adding 32, 5o they will end up the same

Shows or implies both of the values 40.75 and
41375 even if there is an incorrect or no
decision, or incorrect further working

3
= Tom wears 40.8 and Karl wears 41.4 50

they don't wear the same size
 40.75 and 41.375 so they both wear 40

Shows the value 41.375
or

Shows the value 40.75 or 41
with correct working

3
® 75x125+32=41

or

The only error is to add 1.25 rather than
flard i/

g
= Indicates No and shows the values 40.75
and 40.25
= Indicates No and shows the values 41
and 40

/ Minimally acceptable
eg, with Yes indicated
* They are both 41

* They are 40.75 and 41.375

explanation

1 40.75 rounded or truncated.
Accepe 41, 40.8 or 40.7
Do not accept 40

1 41375 rounded or truncated
Accept 41, 41.4, 413, 41.38 or 41.37
Do not accept 42

1 40.75 from incorrect working.
Note that pupils who add 1.25 rather
than multiplying generate the shoe sizes
4025 and 40.75
For 3m or 2m, do not accept explanations
based on such misconceptions
«

* They are both 41 as
7541254 32=41
Te125432241
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Coins

Correct response

Additional guidance

3m

m

Shows all five correct ways, with none
incorrect or duplicated
e

—osun

Shows at least four correct ways, with not
more than one incorrect or duplicated

Shows at least three correct ways, with not
more than two incorect or duplicated

/ Zeros omitred

t Values of coins given

s
044

o 6 2

o 8 0

s o0 3

I
Provided this i the only error,
mark as 1,0, 0
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Matchboxes

Correct response

Additional guidance

106

 Equivalent fractions or decimals

t Answwer of 4
Accept only if it is clearly stated that

another 4

eg, accept
* 4 mor

eg, do not
‘4

boxes are needed

a
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Sums and products

Correct response

Additional guidance

1m| Both correct, ic

Both correct, ic

t Second and third columns completely
cornect, fourth column incorrect or omitted
Mark as 0, 1
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Making 27

‘Additional guidance

1m | Gives a correct explanation

The most common correct explanations:

Refer to the fact that an even number of Sp
coins gives an even total, and that addition of
2p coins will keep the total even
@
= An even number of Sp coins gives an
‘amount that is even, leaving an odd amount
to make up 27p. You can't make an odd
umber with 2p coins
= An even number of 5s s even, adding 2¢
kecps it even, but 27 is odd
= An even number of Ss slways ends in zer0,
leaving you to make an odd number with 25
which i not possible

Produce a st o possble solutions

@

« 0 5p = 0p leaving 27p, impossible
2. 5p = 10p leaving 17p, impossible
4 5p = 20p leaving 7p, impossible
6 5p = 30p, which s too big

« You can't make 27, 17 or 7 using 25

/ Minimally acceptable explanation
% An cven mumber of Saloves an add
number and you can't make an odd
number from 25
* 27 s odd, 50 you have to have an odd
mumber of Spa or the 25 would make it

x Explanation refers only o 53, or only to 25
=

An even number of Ss s even but
27is0dd

* An cven number of S ahways cnds in

* You can't make an odd mumber with 25

 Justification not given
&

* You can only make even totals

« You can only do it using an odd number
of 55

« Can't both be even

* 27 is an odd number

+ Only ane case considered

Asthis is a level 4 mark, condone

o5, accept

¥ 2.x 5p = 10p leaving 17p, not possible
+ 4 5p = 20p leaving 7p, can't

* You can't make 7 using 25

+ Two 53 make 10 and cight 25 that is a5
close as I can get

* Add 2ps 0 10, you get 12, 14, 16, 15,
20,22,24,26,28

 Justification not given

* 26 s asclose as I can get
+ You can make 26 or 28
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Shoe sizes

Correct response ‘Additional guidance.
3m | Indicates Yes and gives a correct explanation |  Minimally acceptable explanation
that shows or implies both of the values 40.75 |  cg, with Yes indicated
and 41375 * They are both 41

Y
. 7x125+32-4075,
7.5 x 125+ 32 = 41375,
So they both round to 41
875 + 32 rounds to 41 and so does
9375432
875 gives 9 and 9.375 gives 9 before
‘adding 32, 50 they will end up the same

[

Shows or implies both of the values 40.75 and.
41,375 cven if there is an incorrect or no
decision, or incorrect further working

@
= Tom wears 40.8 and Karl wears 41.4 50

they don't wear the same size
@ 4075 and 41.375 50 they both wear 40

Am | Shows the value 41,375

Shows the value 40.75 or 41
with correct working

@
o 7Sx125432a41

The only error s 10 add 1.25 rather than
multplying

@
« Indicates No and shows the values 40.75
and 4025
« Indicates No and shows the values 41
and 40

* They are 40.75 and 41375

1 40.75 rounded or truncated
Accepe 41, 40.8 or 40.7
Do not accepe 40

1 41.375 rounded or truncated
Accept 41, 414, 413, 41.38 or 4137
Do not accepe 42

1 40.75 from incorect working
Note that pupils who add 1.25 rather
than muliplying gencrate the sho sizes
4025 and 4075
For 3m or 2m, do not accept explanations
based on such misconceptions

Y

* They are both 41 as
754125+ 32241
74125022241
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Correct response

Am | Gives both correct values, i
‘maximum of 40 and minimum of ~20

Completes both rows correcly in cither order
@

[

1
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[rer & queston|

Digits

if they are not from theirlis, provided their
numbers each have at least three digits and the
addition requires at least one ‘carry’

eg
. 3574753=1110
a 5374753=1290
. 3334777=1110
357437545374 573 4 735 4 753 = 3330

Gives the value 1110, without idenifying their
smallest and biggest numbers

[35lao[s-7]e-9
5 Correct response ‘Additional guidance
a 1m | Gives al four correct numbers, ie
537
573
735
753 inany order
b 1m | Wenifies the smallest and the biggest numbers |/ For both marks, follow through
from their list (including the two given
numbers), provided their list has at least four
numbers
1m | Correctly adds any numbers they idenify, even Markers may find the following sums using

the values from a correct list usefl

~ [ 7
720 I

2 I I

537 | sd | s | - [ 5@
573 | o3 | vas | | - [ 7
735 | 1052 [ 1110 | 1272 | 1308 | -
753 | 1110 | 1125 | 1290 | 1326 | 148
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[rie & ueston|

J3fe-e

7]

5]

Food and drink

7

Correct response.

‘Additional guidance

a

m

£15s

Indicates the correct item of food and the
correct drink, ie
Pizza and juice, in cither order

Shows the digits 24(0)

/ Unambiguous indication
e
“nJ
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[rier & Queston|

[zsfa-el5-7[e-s]

Number lines

81

Correct response

‘Additional guidance

2m

53

17

Gives both the values -9 and (+)3 in the correct
positions

Gives one correct value in the correct position

Gives both the values (+)3 and -9 but with the
positions reversed





image24.jpg
[rer & quesion

e-els-7}e-s|

Computation

‘Additional guidance

3 Correct response
a im| 102 or equivalent

b 1m| 95 or equivalent

< m| 1270

d im| 57
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[Fer 8 Queston]

Paralympics

[Bfecfse|
[]

Correct response

‘Additional guidance

m

m

2100

x For part (a), ~19

x For part (b), ~2100

! Responses to parts (a) and (b) transposed.
but otbenwise comect
Mark 250,1

Completes the three entries o the table
correcly,ic

15| Auwemlis | 3524

Showws the value 123 or 3824, even if in an
incorrect position

1 Abbreviation or incorect spelling of
Australia
Condone
e, aceept
< Aus
oA

For 2m or tm, 3824 rounded.
Accept 3500 0r 3820
Do not accept 4000
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[Fer 8 Questin]

S rEm Teachers
7 Corect response ‘Additional guidance

B 1m| 157860

b 1m 1350 x-1350
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[rer 8 aueston]
=

Arranging numbers

Correct response. ‘Additional guidance
2m | Gives both cormect ways that are different from | 1 Operations given
the example given, i Ignore
e, for 2, 3 aceept
 First and second groups transposed within
and an othenise completely correct response
Lanswer lines ignored]
n b
145 23
or and
1m| Gives one of the two correct ways that are
different from the example given G e
Markas 0,1

 Response satsfies the conditions, but does
ot use all the mumbers and/or uses repeats.

and
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[rer 8 Quesion] Using a calculator

=
Correct response ‘Additional guidance

1m| 4410

t For the second mark, anstwer given as an
mproper fraction

Accepe only if fully simplified

eg, accept

tm| 25 or equivalent

2
g, do not accept
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Number lines

‘Additional guidance

Gives both the values -9 and (+)3 in the correct
positions

Gives one correct value in the correct position

Gives both the values (+)3 and 9 but with the
positions reversed
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Computation

10.2 or equivalent

9.5 or equivalent

Additional guidance
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[rer & question

EmEm

Making zero

18[11[3

Correct response

‘Additional guidance

Indicates only the second statement, ie

Indicates that the other number is zero
8

.0

. Zewo

Gives a correct pai of non-zero values that add

to make zero
g
* land-1
and +45
» xand-x

 Minimally acceptable indication
e
“040
* Same

! Use of negative sign

g
.0

Condone

X Operation changed
«
* 11 ['and" crossed out]
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Arranging numbers

Correct response.

Additional guidance

2m | Gives both correct ways that are different from
the example given, ie

1m| Gives one of the two correct ways tha are
different from the example given

! Operations given

t First and second groups transposed within
an otherwise completely correct response
[answer lines ignored]
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Using a calculator

Additional guidance

Correct response

m

m

2.5 or equivalent

For the second mark, answer given as an

improper fraction
Accept only if fully simplified

eg, accept

eg, do nor accept
105
2
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‘Additional guidance’

Givesa complete correct response, e

T ——

A lre ok and a2 e, cost €109

Gives  comple coec rporae tha
Sl o on oo pr

& For pats (a), (b) and (), costs given in
pence witbout amendment of units
Penalis only the firse occurence of he cost
iven in pence within a corect esponse.
e, for the coses as
+ 17, 110, 109 [wich corret bore sizes]
Mark a:0,1, 1
e for the cots s
« 110, 109, 117 [wich corret bore sizes]
Mark 200,0,1

/ For parts (b)or (c), unambiguous
identfcation |
e for the two 1 e boules
+ One ofthe middle iz, and another
crbed
+ S5 and S5

1 For parts (b) or (c), wes hree 1 litre bottes
and gives the costas €1.17
W chei (a) i eicher 1.10 or 1.09, accept

incorrect or wo

1 For parts (b) and (o, cormect costsgiven with

of botle sices

«

* 110, then
109

Mark 250, 1

Shows a complete correct method with not
mare than one computationalerror

210410= 1210
1
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Computation

Correct response

‘Additional guidance
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Place value

576
15 Correct response ‘Additional guidance
ala im| 202
b|b 1m | 2022 or equivalent t Follow through from part (a)
Accept as their (2) + 100
! Answer of 20 o 20.2
Do not accept unless 20.22 is also scen, or
20 0r 20.2 s from their follow through
ele 2m| 0.45 or cquivalent
or
Am | Shows the values 5.85 and 5.4 or equivalent

or
Shows the values 0.2 and 0.25 or equivalent

Shows or implies a complete correct method
with not more than one computational error

o
.35 3.
235 21
5.85 5.3 (error)  Answer: 0.55
o 58544 (erron) = 1.45

% Conceptual error within a correct method

540
. 310
35 is bigger than 2.1 by 0.34
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Pupil list

Correct response

‘Additional guidance

Huw Davies

Leroy Taylor

 Unambiguous indication
e, for part (b)
+ Huw
« Davies
- 201192
e, for part (©)
Leroy
ot
* 061092

Gives the correct date.

e
. 070193
« 7Jan93

+ Date given in different form
Accept only if unambiguous or
commonly used

eg accept
* 177193 [US notation]

x Year not given

e
* 7 January
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Cards

Correct response

‘Additional guidance

1 Final zero omitted
Provided this is the only error, penalise only
the first occurrence

1 Value given in pence without the
Corresponding change in wnits
Provided this s the only error, penlie only
the first occurrence

Gives a correct pair of codes in cither arder,ic
CandD

Band

a correct pair of codes, other than any

@ ™ usly credited

/ Unambiguous indication
eg, for C and D
* Digits 165 and 195
« Cand 195
cg,for Band E
* Digits 125 and 235





image39.jpg
Missing numbers

Correct response

‘Additional guidance

m
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Place value

Correct response

Additional guidance

20.22 or equivalent

Follow through from part (a)
Accept as their (a) + 100

Answer of 20 or 20.2
Do not accept unless 20.22 s also seen, or
20 or 20.2 s from their follow through

0.45 or equivalent

Shows the values 5.85 and 5.4 or equivalent
Shows the values 0.2 and 0.25 or equivalent
Shows or implies a complete correct method
with not more than one computational error

g

s
35

585 53 (error)  Answer: 0.55

5 — 4.4 (error) = 145

X Conceptual error within a correct method
e
354235 =540
35423525310
+ 2335 is bigger than 2.1 by 0.34
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Missing numbers

Correct response Additional guidance
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i 8 Queston

Euros

‘Additional guidance

1m| 305

1m

1005

1030
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Number grids

Correct response

Additional guidance

3m | Completes all three grids correctly, ie

28 27

10 10

‘Completes the fiest two grids correctly

‘Complete the third grid correctly and gives any
o correctentrics in the first two grids

‘Completes the third grid correctly, gives any one
correct entry in the frst grid, makes an error in the.

right hand entry of the second grid, but follows
through correctly to give their product

Gives any two correct entries in the first two grids
Completes the third grid correctly
Gives any one correct entry in the firs grid, makes

an error in the right hand entry of the second grid,
but follows through correctly t give their product
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Same number

1m | Gives the value 1.5 in each of the three boxes

| =mEE
[1a]7 Correct response ‘Additional guidance
afa m| 75  Equivalent fractions and decimals
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Tier & Question

Concert
I
5 Correct response. Additional guidance
a Im| £9835
b m| 5
1m|| Shows the digits 8225

Shows or implies a complete correct method with
ot more than one error, even if their final answer
is no an integer or is rounded or truncated
5
= (15575 -3 x24.50) + 1645
u 73541645 + 1645+ 1645 + 1645 +
1645 15575
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Tier & Question

Marbles

[FEEases
12| 5

m

or
m

Correct response

Matches all three questions correctly, i

10

10x7

1041247

Matches any two of the questions correctly

Additional guidance

Question matched with more than one
caleulation

For 2m or 1m, do not accept as a correct
match
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Tier & Question

Party

5[l 7los)
15]8 Correct response Additional guidance
2m | Completes all four entries i the table correctly,
4.95 s 2475
3.20 13 41.60
195 10 19.50
Toual: | _85.85
1m| Completes at least three entries in the table t For tm, follow through
correctly ‘Where the only error is in the total cost of
balloons, for the overall total accept their
or total cost of balloons + 61.10
Completes all four entries correctly with some or
all amounts of money given in pence





image49.jpg
Number grids

Correct response

‘Additional guidance

3m

2m

Completes all three grids correctly, ie

1 12

Completes the first two grids correctly
or

Completes the third grid correctly and gives any
two correct entries in the first two grids

Completes the third grid correctly, gives any one
correct entry in the firs.grid, makes an error in the

right hand entry of the second grid, but follows
through correctly to give their product

s any two correct entries in the first two grids

pletes the third grid corectly

Gives any one correct entry in the first grid, makes
an error in the right hand entry of the second grid,
but follows through correctly o give their product





image50.jpg
Same number

Correct response ‘Additional guidance

| 7.5 « Equivalent fractions and decimals

tm | Gives the value 1.5 in each of the three boxes





image51.jpg
T Qution
Marbles
&
5 Correct response. Additional guidance
2m| Matches all three questions correctly, ie 1 Question matched with more than one

or

1m | Matches any two of the questions correctly

calculation
For 2m or 1m, do not accept as a correct
mach





image52.jpg
Party

195 10 19.5:

Completes at least three entries in the table.
correctly

Completes all four entries correctly with some o
all amounts of money given in pence

Additional guidance

For 1m, follow through

‘Where the only error is in the total cost of
balloons, for the overall total accep their

total cost of balloons + 61.10





image53.jpg
T 8 Queston K g
Anniversaries
[s-7]6-8]
7 Correct response Additional guidance
2002 v Unambigwous indication of year
e, for 2002
.02
, for 1960
1960 ki

1987

“ 60
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Tr 8 uestn &
Calculations
e
8 Correct response Additional guidance
1m| 1891
1m 493
1m| s8s
m| 2





image1.jpg
ier & Question|

Missing numbers

Eﬁ s

Correct response.

Additional guidance

m

m

m

m

Gives any three numbers that add to 15
]
Se6ed
" 54545

Gives any two numbers that multiply to 15

8
. 3x5
. 1xls

Gives any two numbers that divide to give 15
eg

. 3042

. 15s1

Gives any three numbers that combine as
shown to give 15

g
. 2x643

/ Throughout the question, use of fractions,
decimals, negatives or zeros

x Incorrect order

2430

/ Brackets inserted to change order of
operations
&
“3x(1+4)

% Incorrect order of operations

e
“3x144





image55.jpg
T 8 Question

[s7]e3]

Adding

Correct response

2m | Gives allthree correct digits in the correct
positions, ie

7))+ 2]

1m | Gives two correct digits in the correct positions
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Making ten

Correct response Additional guidance

1m | Gives two numbers, one positive and one ¥ Fractions or decimals
negative, that add t0 10

&
~10and 20
15 and -5
~1and 11
0.5 and 10.5
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T  Queston .
Calculating
O
8 | Correct response Additional guidance
B ‘ ‘ | 2134
b ‘ ‘ | 663768
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Tir & Question

[3-5]a-6[s-7]e-s|
j2a]17]7 Correct response Additional guidance
2m| £19625
1m | Digits 19625 seen Markers may find the following useful:
or Mon 7x635=44.45
Toes 7x635=4445
Shows or implies the correct subtotals of pay Wed 4x635=254and2x7.
for the hours worked at 6.35, or pay for the or 4x635+2x75=404(0)
hours worked at 7.5(0) Thur 7x635=44.45
g 0
- 15875 S 3x75 =225
- 25x635
- 37.50) no. of hours  pay per
= 5x7.50) worked  hour
= 15.and 22.5(0) seen 2 peaea
- s 7.50)
Shows the values 44.45, 40.4(0) and 22.5(0) ) 7 :4:¢
7.5(

or

Shows or implies a complete correct method with
not more than one computational error
«
" 7474447226 (error),
26635+ 5 x 7.5(0) = 202.60

Gives an answer of 193,95 or 20085
[the only error is to assume 6.35 o 7.50 for all
hours on Wednesday]





image59.jpg
Adding

‘Additional guidance

Gives all three correct digits in the correct
positions, ie

e

Gives two correct digitsin the correct positions
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Making ten

Correct response

Additional guidance

1m | Gives two numbers, one positive and one
negative, that add to 10

8
« -10and 20
« 15and-S
« -land1

* -0.5and 10.5

' Fractions or decimals

x Addition symbol amended

8
©20-10=10
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Tir & Queston Test results
B

[22[13[4 Correct response Additional guidance

alafafim| 11

©s





image62.jpg
Shop

Correct response.
£19625
Digits 19625 seen

‘Shows or implics the correct subtotals of pay
for the hours worked at 6.35, or pay for the
hours worked at 7.5(0)

e
. 15875
. 25x635
. 37.50)
. 5x7.50)
* 15and 22.5(0) seen
o
‘Shows the values 44.45, 40.4(0) and 22.5(0)
o

‘Shows or implies a complete correct method with
ot more than one computational error

e
© 7474447226 (erron)
26 %635+ 5 % 7.5(0) = 202,60

o

Gives an answer of 193.95 or 20085
[the only error s to assume 6.35 or 7.50 for all
hours on Wednesday]

‘Additional guidance

Markers may find the following uscful:

Mon
Tues
Wed
Thur
(i
Sat

7x635=44.45
7 %635 =44.45
4x635=254and2x7.5 =15
4x635+2x7.5=404(0)
7x635=44.45

0

3Ix7.5 =225

no. of hours  pay per
worked  howr  toual
2 635 15875

s
or
]
3

7500 37.50)

7.50) 15(.00)
7500 2250





image63.jpg
1 For 1m, followthrough from their 25
Accept folow-through forthew 30 as
55— then 25




image64.jpg
Dishes

ol e

1m  Gives the answer 25 o 250
‘Shows the value 7.50) o 750

‘Shows o impies a complete correct method with not

more than ne computations error
e
+ 1.50+250+ 350 = 700 error)
Answer given as 3
1im  Gives a comect pair of colours, in any order ie ¥ Unambiguous indication of colour
Green and Orange. + GandO
+ BandR
o 1 Response gives costs rather than colours
o fec Pac Withhod 1 mark only for the first occurrence.
Alow costs given in pence
)
* 150and 300
2(00)and 250
* 150and 300
200and 250
Markas0,1

ol e
®




image2.jpg
Prices

Correct response.

Additional guidance

m

m

1m

Indicates a correct amount in pounds or pence
and gives the correct units
e

- 75p

. £0.75

Indicates a correct amount in pounds or pence
and gives the correct units

g
- £1.05

- 105p

Indicates one eraser

1m

Indicates a correct way, other than two rulers
B

4 pencils

3 erasers

1 eraser and 1 green pen

= 1 ruler and 2 pencils

Indicates a correct way, other than one
previously credited

Indicates a correct way, other than one
previously credited

1 Units incorrect or omitted
Penalise only the first occurrence

g

.75 (units omitted)

1.05p  (units incorrect)
Mark as 0, 1

/ Quantity of one implicit but not specified
eg, for the third mark in part (a)
* Eraser
eg, for part (b)
« Ruler and two pencils

/ Unambiguous indication
eg, for the third mark in part (a)
“E
« Rubber
eg, for part (b)
* Rand 2P





image65.jpg
Correct resporse

Gives four of the digts to make  correct calculation
eg

e 748215

e 5e6am1

© 949218

Gives four of the digits to mke  correct calculation
e

e bx7-22

. 7x5-35

. 9x9=81

Gives fve ofthe digits to make 3 corect calcu'ation
es

e 23a-19

. e-s-a

. %-2-2

Gives four of the digts to make 2 comect calculation
es

o 145227

. %2426

. %66

Digit cards
Addtionsl gidance

1 Zero used at the end of a number
g for the frst mark
e 248210
Pensise only the frst occurrence.

x Zoro used or card left blank at the.
beginning of a two-digit number
g, forthe second mark, do not accept
“2x3-06

x Cord e blank at the end of a umber
g, for the thid mark,do not accept
-2

* Extra digitinserted
g, forthe fourth mark, do not accept
©%e2=18




image66.jpg
Using tens

Correct response Additionsl guidance
+10 1 Correct operation indicated, but 10 omitted
e, for the frst mark
m +10—e-10 3
Pena se oy the frst occunence

m o+ 10— 10




image67.jpg
Sum of 80

Correct response Additionsl guidance

Inchcates Set A ¥ Minimally acceptable explanation

and e

‘gves a correct explanation © 6and 10seen

g © 74390 seen

o A=783nd80-74=6 * 302010 nd1,2,3,450en
B=90and%0-80= 10

* As-32-1,@andBis+1,+2. 43,44, * Incomplete or incorrect explanation
5045 only 6 less than 80, but B s 10 more =

- AsdsuptoTe
« B 10more than80

@ « Asddiupto74, Baddsupto 110
 17,183nd 19 a0 o under 20 s0 A s smaler




image68.jpg
Making 1

Mark Correct response Additionsl guidance
2m  Joins sl four pairs of numbers correctly, ie x Number matched to more than one other
For 2m or 1m, do not accept as 2 comect match

m  Joins atleast two pairs of numbers corrcty
2m  Joins al four pais of numbers correcty ie

1
0s
025

o =]
=<

005

or
Im Joins atlaast two pairsof numbers correcty
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Number grids





image70.jpg
‘Shows a complete comrect method with not more.
than one computational error

Y
130 x 3 = 340) emor),
10-360 = 640)

Parcels




image71.jpg
Correct response
£5(00)
Shows the value 22(00)
or

Shows or implies a complete correct method with not
more than one computational error

g
* 1200 error) + 9= 21.00
Answer given a5 4.00




image72.jpg
Test




image73.jpg
Additional guidance

X Instruction on the left matched to mre than
‘one instruction on the right





image74.jpg
Im Indicates two dfferent scuares with atota of 122

Number grid
Addone gidence

 Squares not shaded but a cormect pair of
umbers indicated in working

Note to markers.
Four scuares with atota of 264 wil usually creste.
2 patiem with rotation symmetry of order 2 about
the number 66 on the grid.

* oo

Howeve, the cortect indications of ither
51 and 81 or 61 and 71 do not shaw ths symvraty

1 Follow-through
For part ). accapt any two squares shadied that
sum o thee (3

" Follow through
For pat ), accupt 2 x thee o, provided
theie 3} s a three-digt rumbar
o
the sum of thei two shaded squares
pan )+ 122
the sum of ther two shaded squares
Partb) + thek o) provided thex () i3
three-digt rumber




image3.jpg
Calculations

Correct response

Additional guidance

m

72

m

2

m

97

26

4348





image75.jpg
Mark Correct response

124

‘Shows a complate corract method with not more
than one computational error
o

e8%

126 (error)
* 2442 64 fomror, 64 + 58.- 122

£7(00)

Drinks




image76.jpg
T8 Cumstion

esren
Mark Correct response

2m  Gives all four comrect responses, ie

*[<[x [

1m  Gives any three comrect responses.

True or false
Additional guidance

1 Other indication
Accept provided unambiguous. However do not
accept blank for =




image77.jpg
Py
ey
7 Mark Corroct response

m 16t

m s

Additional guidance

Missing numbers




image78.jpg
BEsres Scale balance
8 Mark Correct response Additional guidance

m 3
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T & et




image80.jpg
T Oumtin

Mark Correct response.
16
Puts brackets in the correct positions to make the
calculation comect, ie
2+16+@2+6)-8

Brackets
‘Additional guidance

+ Multiple pairs of brackets
Accept provided the brackets are paired and
unambiguous, even i redundant
og. accept
. 2+06+0+6)-4




image81.jpg
- UK population
Mark Corroct response. ‘Additional guidance
Im Gives avakue betwoen 1.5and 19 inclusive ' Equivalent fractions or decimals
1 Answer of 2
Accept i no incorrect working shown.

m  Indicates 5%, e





image82.jpg
1908




image83.jpg
‘Shows the digits 8348 and 8355 and the intention to
subtract

or
‘Shows a complate correct method with not more
than one computational error

o
* 7676+679)-0959+ 349
© 7999 + 349 = 83.82 orror)

7676+ 679 - 8355
8355-8352-3
1m  Gives the correct unit for their diference 1 Amount given without working
o g accept
* pwith7 © pwith1-%9
 Ewith @07 * £wth@01-O5
* pwith 3 error)

* Ewith (0,03 (error)




image84.jpg
Shows the digits 8775 and 38160)

Shows or implies a complete correct method with not
more than one computational error
g
o 106x360)+ %225
o (145-39)x 360+ B9 x 225
© 39x225-8775
107 (error) x 360) = 385.20)
8775+ 38520 47295

Open garden




image4.jpg
ier & question|

Car parking

o4
5101 Correct response Additional guidance
2m| Indicates the remaining five combinations in  Zeros omitted
any order, with no duplicates and none
incorrect
e t Amounts given rather than numbers of coins
«[10p [ 200 [ 504 Accept provided the number of each type of
7 o] o coin is unambiguously implied
2 lals eg, for the combination 2. 0 1, accept
320 N
200 |1 10p | 20p | s0p
130 10 50y
HEE o »
eg, for the combination 2 0 1, do not
accept
10p | 20p [ s0p
o 20p S0p
m| Indicates at least four correct combinations,
with not more than one duplicated, incorrect
or omitted





image85.jpg
Find the ways
‘Additional guidance
1 Operation repeated
Condone
g for the irst mark accept
P




image86.jpg
B

Correct response Additional guidance

Shows the total cost of ights through QP Airines,
o £744

Shows or implies the cost o fights through QP

Ailines for chidren aged 1 to 12, or children under 1

&

« 1205000

* 240+ 240+ 240-+ (a value that clearly represents
10% of 240)

* 24 seen as part of a calculation for QP Ailines

Shows the total cost of flights through Budget A,
lo£784

Family flights




image87.jpg
O
.N

Mark Correct response

m
3m
or
2m
m

Gives the correct change for 1 orange and 1 apple,

o 24p.

Gives four more distinct pairs of fruts, together
‘with the cormect change for each

Gives three more distinct pairs of uit, together
‘with the correct change for each

Gives the correct change for one pair induding a
satsuma and one pair inclucing a banana

)
1 orange and 1 banana: 40p (39)
and

1 peach and 1 satsuma: ép (7p)
* 1 banana and 1 satsuma: 41p (40p or 42p)

‘Shows or implies the cormect cost (a whole number of
pence) of 1 apple (30p), 1 banana (14p or 15p) and

1 satsuma (25p or 24p)

o

Gives the comect change for 1 peach and 1 apple,

and one other pair
g
1 peach and 1 apple: Tp
and
1 apple and 1 banana: 36p (5p)

' Cost of 1 banana = 15p and/or
Cost of 1 satsuma = 24p

A complete st o the remaining pairs s as
follows (figures in brackets se 15p for a banana
‘and/or 24p for a satsuma)

1 ncorrect value. decimal) used for
the price of 1 banana or 1 satsuma
Penalise only the irst occurence of each
g acceptfor 2 marks
1 peach and 1 apple: 1p

1 peach and 1 banana: 15p fermor)




image88.jpg
.. Mark Corract response Additional guidance

Identifiesthe four correct numbers only. inany order 1 9.and 3 not repeated.

o 9063, 9173, 928,993 2;

e ° GIoLeI5]
= [
I mBON|
b mBEN|

Identifies two or three of the cormect numbers with no

adkitionalincorrect numbers

Identifies the four cormect numbers along with one.
additional, incorrect, number




image89.jpg
Additional guidance

1 Answers of 94, 34
Mark 350, 1

Sixes




image90.jpg
HE-

3m
or
2m
or
m

Identifies the correct minimum monthly cost (£40.50)
‘and shows either another correct monthly cost or a
correct method for another monthly cost
o9
* £4050in answer box with
£49.17 shown elsewhere
* £4050in answer box with
2650+2x 15 shown elsewhere

or

Identifies the correct minimum monthly cost (£40.50)
‘and shows £486 and another correct annual cost

Gives any correct monthly cost (see additional
quidance)

)
* £4050
o €497

or

Shows corract methods for the minimum cost and
‘one other but without a correct result, and gives an
‘answer consistent with ther results
o
265427 =445 orror)
265+2 15is more
Answor of £44.50
* 590+ 12 = 39.33 (orror)
265+2% 7 = £199.50 (orror)
Answer of £39.33

Shows a correct method for a monthiy cost but with
anincorrect or no answer

Swimming pool
Ackbtiona gubdmcn

1 Cost not dentified as minimum (answor box
loft blank)
‘Condone provided there s 2 cormect comparison
andno ambiguity
eg. accept
o £4050isloss than £49.17
eg. donot accept
o £5650, £4050, £5450
* 265+ 2x 15 = £4000 (orro)
25+2x7 = £4050
725 x 8 £58 which is more

‘Some different cost options (with the annual
equivalents in brackets) are
~ Annusl memberships: £49.17 (£5%0)
230 + 2 x 180 = 550
590 + 12 = 49.1666 (condone 49.16)

25+2x15
3542165268
68x 2 x 4 (condone 1 month - 4 weeks)
- Add-on memberships: £40.50 (£486)
265+2x 7 (cheapest)

- Eamily swims: £58.00 (£696)
7.25 x 2.x 4 (condone 1 month = 4 weeks)




